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BACHELOR’S DEGREE PROGRAMME

(BDP PHILOSOPHY)
Term-End Examination
June, 2015
ELECTIVE COURSE : PHILOSOPHY
BPY-006 : METAPHYSICS
Time : 3 hours Maximum Marks : 100
Note : (i)  Answer all five questions.

(i) All questions carry equal marks.

(iii)) Answers to question No. 1 and 2 should be in

about 400 words each.

1.  What is Metaphysics ? Explain its nature and
scope.

OR

Define Being. Bring out the difference between
‘Being as Essence’ and ‘Being as Esse’.

2. Give an account of Indian Metaphysics presented
by the six orthodox systems.

OR
What do you understand by person ? In this

connection, differentiate between ‘Person’ and
‘Entity’.
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3. Answer any two of the following in about
200 words each :

(@)

Is there any difference between Essence and
Existence ? Explain.

Explain the nature and division of
substance.

Describe various methods used in Indian
Metaphysics.

Discuss the different types of analogy.

4. Answer any four of the following in about
150 words each :

(a)

(b)
(c)
(d
(

S’

e
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()

Give the etymological meaning of
Metaphysics.

Write a note on the dialectical method.
Explain matter as passive potency.

What is inter subjective communion ?
Differentiate between positive and negative
freedom.

What are the different types of truth in
relation to being ?

5.  Write short notes on any five of the following in
about 100 words each :
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Principle of excluded middle
Being as the object of will
Individuation

Three kinds of change

Problem of free will

Compatibility and Incompatibility
Ontological beauty

Act in potency
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1. S e ? $HH! whia d fawa- 8 % e
HifT I
rear
Hq (Being) i IR 1 TR &9 ¥4 IR AR &
B & T (Esse) €9 6q % WL =R TR FHIfwQ |
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3. &= oyl & S AU 7% U9 w1 SW ST
200 YI=ei | €1 =fET |

(a)

F1 91 3t afam A =8 o €27 =men
Exd

g ! Thfa iR faumh &1 guiH HifSw)
IReE e ¥ ygE fafv= wfafusi
faae ST

fafi= g&R =1 Fgead & sare HiS

fonl 9/ 93 & SW VT TAF T H S|
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(f)

T T Fearaqers 31 I&ga Hifvg |
soas fafy W da fafau)

faftora amed & &9 d 151l 1 =R Fifsu |
3= fawafTs gy = €2

THNHS TG TRRIHS Wd=dl & AL 3T
Hifeg |

T4 % oy A fai 7hR % g e 9 €2

5. ol uiw weal wdfys fouht fafed | v feoft

TTHT 100 VSRl H BT MG
(a) W+ 9RER =1 fom
(b) Hehey & foma & w9 9 9q
(c) AT
(d) T YFR & TRad
(e) dIH Hehed HI HHE
() gnfa ik fagnfa
(g) WOHHIES gL
(h) wmd H
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